1.  Here are some hypothetical numbers used to illustrate the ideas of trade-offs, specialization, and comparative advantage.  Assume Sri Lanka, using all her resource efficiently, can produce either 1,000 bags of rice OR 3,000 bags of tea.  Let’s also assume that, using all her resources efficiently, Kenya can produce either 1,000 bags of rice OR 1,000 bags of tea.  Further, assume that the countries have similar resource endowments and that, initially, they are not trading with each other.  Therefore, each of the countries has to produce both rice and tea for its citizens.  Suppose that, in the no-trade situation, Sri Lanka was consuming 400 bags of rice and 1,800 bags of tea, and in the no-trade situation, Kenya was consuming 500 bags of rice and 500 bags of tea.  

Now, let’s play a fun game called the “Trading Game” to figure out whether there is any benefit (in terms of increased consumption possibilities) for these two countries if they trade with each other.  You are given the following information to start the “Trading Game”.  The trading price is set at one bag of rice for two bags of tea, and Kenya wishes to keep at least 550 bags of rice after trade.  

Apply your knowledge of opportunity cost to identify the comparative advantage enjoyed by each country.  Now using your knowledge of specialization and trade, show in a multi-paragraph essay, that the two countries can benefit by consuming more of both goods after trade.

2.  Imagine that you have decided to open a small ice cream stand on campus called Ice-Campusades.  You are very excited because you love ice cream (delicious!) and this is a fun way for you to apply your business and economics skills!  Here is the first month’s scenario--you order the same number (and the same variety) of ice creams each day from the ice cream suppliers, and your ice creams are always marked at $1.50 each.  However, you notice that there are days when ice creams remain unsold but other days when there are not enough ice creams for the number of customers.  

Use your knowledge of the factors that cause shifts in demand, and in a multi-paragraph essay, provide at least three reasons why ice cream sales fluctuate in this manner.  (Apply only the factors you think are applicable to explaining this scenario.)  Now assume that a month later, the school allows a competing student the right to sell ice creams on school property.  (The number of students on campus remains largely unchanged.)  What do you think will happen to the price of ice cream at your campus?  Explain in detail.

3.  There are two firms producing the same good.  Each firm has the cost structure
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.  These are the only two firms in the market where the MARKET demand for the good = P = -2Q + 50.
a)  Find the profit of each firm if EACH firm produces 5 units of output.   Show that if one firm produces 6, but the other stays at 5, the firm producing 6 earns more profit.  (1 point)

b)  Write the matrix for a game where the strategies for each firm are “produce 5” and “produce 6”.  The numbers from (a) and (b) will help you fill in some of the payoffs but others will take some more calculation.  (1 point)

c)  Explain why the game is a prisoner’s dilemma.  (1 point)

4.  Answer the following for the game below:  

a)  Why doesn’t player B have a dominant strategy? (1 point)

b)  What is the Nash equilibrium and what is the maximin equilibrium ?  (1 point)
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